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For if he wants he can bend down and eat - 9DRY 17 Y2 INT

Overview!

The &3 distinguishes between the case of 12X " (where he was 121 y11 1) where
he is Mo for ripping the 0°X1°w, and the case of X701 271 (where 172n 5w 1277 213)
where he is 211 for the 72°13. In the case of 12X "7 it is impossible to have a 137
without an 77°p¥ (therefore he is Mwo),2 however by X701 27 it is possible to eat the
251 without a 7377237, for he could bend down and eat the 291 without picking it up.’
There is a dispute between *"w1 and NM201N as to the meaning of 275X 113 *v2 *K7.

- 713 XMD RYT 1Rk 4090pa ¥
“""w9 explained that 2°OX1 1) °¥2 °X means that he will bend down lower than three

o°ndv and (pick it up and) eat it, for this is not considered a 577723537, since he never lifted
the food higher than three onov —

mooin disagrees with >"wAo:
= 79993 1N 1192 DOIN NINY 9272 SNNANN TV NNT PN 139399 AYUP)

And the 5""9 has a difficulty with >"w=°5, for how do the rules of 1777357 apply to
something which he is holding in his hand or in his mouth —

maoIn proves his point:
= DYINN DNDP TINT PIT (x,ny 91 1P02)2 13599N) NINNI 9N N7 11T

For the 770 writes concerning a v3 that ‘he should place it in her hand’, and the

I'See ‘Overview’ to the previous 7°pyw 7"7 'oin.
2 Therefore since the naw 211 cannot occur without the 77°py, therefore it is considered as if the naw 211 began with
the 77°py, and he is 79 on the o°k7°w which happened during the naw 211 on account of 717 712772 72 Dp.
3 Therefore since it is possible to eat the 271 without making a 777237, the 777237 is not 72°2X T, so (even) if he picked
it up first, (nevertheless) he is 21 for the 72°13 since it was not simultaneous with the 72°3x.
4587 7"
3> Generally any item which is within three 2’nov of the ground is considered 727 as if it is on the ground. Therefore
>"w assumes that if he picked up the 271 less than three o°’nov from the ground it is not considered as if he acquired
the 2511 through 777237 (for it is as if he never picked it up from the ground). Therefore since it is possible to eat the
291 without acquiring it, we cannot say that the 777237 is 72°3K 771%, and therefore in the case of X701 21 he is 211 for
the 72713, since it is not done simultaneously with the 7%°38. The two (:77°2X1 72°33) are not associated.
6 MmpoIN maintains that this rule of 's 7In is considered 7122 does not apply if the item is in one’s hand (or mouth). Once
the item is in a person’s hand he is 1P the item even if it is A 7\N. Presumably he is 71y because of 17°, not because of
77237, Therefore here too (in the case of >"w1), the 777237 is 77°2R 77, meaning he cannot eat it unless he is 7P it first
(even if he eats it '3 7In).
" See ‘Thinking it over’ # 1.
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X3 states in @3 Noon regarding the mawn which states,® ‘he threw the v into her

sewing basket, she is divorced’; and v>p% w1 comments on this mwn; the basket -
- 125995 mWYa 159917 23 HY X 1099950 NINY 29 YY IN TNNUP

Is required to be tied to her even though it is not hanging on her, but rather it is
being dragged on the ground, even though we are discussing where the woman is

in the domain of her husband -
=73 M) NANY 729810 1N 14m95n onn 'yat 1312'{)2 1999N)

And even according to the one who requires there that the 7n%> be suspended
above the ground, nevertheless he does not require that the 7n%p be above o°nov s —

mooin offers his explanation why the 177237 is not 729K TNX:
— 999N 1PN Y3 INT IVIT 29N PNY 199299 AN NIN

Rather it appears to the 5" that this is the explanation of %>R 19173 "¥2 5K7, that -
- INPYA 17%2 1Y NANNDY MNYY XD 9199 NP YN NN ON

If the 2517 is on the top of a rod, he can bend down and to insert the 2517 into his

esophagus, in which case there is no 77237 13p at all, so -
= DION TIND 1T NNAN NMNY 1599 AWIY 1N NN 7H2T 2) by 9N

Even though that in this case of eating, which X701 27 discusses, he does not do

this, but rather he eats normally, and in that case the 7:725:7 is 7799OK 773 -
- NN AN T INY NN K92 APNNAY 9199 NI BN YN

Nevertheless since it is possible that he should be liable for eating 251 without
making a 717257, therefore we may conclude that ;77237 is not 77999K 77135 —

n1voINn concludes
$99%a0 169 NaNN ON 109 NN NP NDIIRD TYWANRT 9199190 81 MNT PN XYM

And in truth the X723 could have also said that it possible to have 79928 without

8 x,mv.
° If the basket is 7Wwp it is considered as if it is 77°2.
19 Tn any case we see that she acquires the v while her An%p (which is the equivalent of 77 [see footnote # 9] is on the
ground less than o°nov "a. This proves that the rule of 015v '3 does not apply to 717. Rather the 7’ is always n11p even if
it is '\n 7onY, not like *"wAo.
' The Xm3 there asks how can her 7n%p acquire the va for her, since she is in her husband’s mw, the 7np is considered
903 MW AR YW v (which is not 71p). This question of the X713 proves that she is standing Sv27 mwAa.
12 Therefore she is not 721p the v on account of 77%n (since she is Hva7 MwA2), but rather 7 ovon.
13 This is 2Xm@ MK 77377 27 and RYWIR " AR WYX .
14 The requirement that it should be 7170 is to avoid the problem of 721 mwA2 7P W Y93 (see footnote # 11).
15 See ‘Thinking it over’ # 2.
16 The advantage of this example perhaps is that it is more likely. The main point is that eating is not dependent on
77237 or a 7°1p, as opposed to N2w 21 that there must be an 77°pY.
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mmaa, if for instance his friend stuck it into his mouth.

Summary
According to "w1 we require that one’s hand rises more than three 0’150 from the

ground to be 11p. According to Mmso1n if the item is in one’s hand or mouth he is 7P
regardless whether it is less than three o’rov. The case of 7113 is where it was on a
rod and he never took it with his hand, but rather placed his mouth over the rod.

Thinking it over

1. It appears from nM»dOIN that one is 7217 if the food is in his mouth (even if it 1s N
").!7 Why therefore is it understood that he was 7¥°227 n"a v 7In% 2mn, but
nevertheless when it came into his mouth he was 71 before there is a 710’ 2171, so
it turns out that 77237 (or 13p) is 79°28 MY, for he cannot be 121 on the 79°2X
without the 71p when it entered his mouth?!!8

2. Mmoo explains that even though the case of X701 27 1s not where 113 *v2 X, but
nevertheless since it is possible for 79°9% without 37237 he is 2»n.!” Why was it
necessary for N1901n to say this according to his vws, we seemingly have to say the
same thing according to >"w" that 1" is not discussing a case of 2°2R1 1°13, but rather
(as mModIN writes) since it is possible for 719°2X without 77237 we cannot say 7772
772708 Te?!

3. What would be the ruling in the case of 2°2X1 1°r3, would he be 211 for the 72°2) or
not (according to both respective muw)??°

4. Does the w7 of the X713 that 2°2R%) 1ra *v2 °X lean more towards >"'wA or '01n?

17 See footnote # 7.
18 See 1 NIX 71 7199n R, 00 0°100 K"y WL
19 See footnote # 15.

20 Do you notice the irony?!
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